i —r W W : -
T DILE - RBSBHFELEIK E
SHTES B
I #R (FR31FE1~4A)
1 0% (FEL) OFRERR (TEH)
(1) PERELE HH
T HR B
FH31E1~4A | s | Bl o) | FHI1E1~48 | ATEFMEL | #BHE %)
# 16, 103 -1, 240 -7.1 340 -57 -14.4
(2) ERIEFEORAERT ()
2 M R 2 W h
FHE3151~48 | siERM] #EE o) | FH3151~47 | SEEMEE [ BHE (%)
BAR 1, 366 -397 -22.5 32 -21 -39.6
(S BEEHRBAR) 690 -387 -35.9 11 =27 -71.1
BEESE 301 +36 +13. 6 7 -4 -36.4
¥4 36 -10 -21.1 0 -3 -100.0
A—bnN1E 207 -82 -28.4 2 -3 -60.0
BiEESR 2,792 +10 +0. 4 58 +6 +11.5
Bmia Sy 451 -184 -29.0 12 -7 -36. 8
HFEhs5K 897 -100 -10.0 13 -12 -48.0
e 107 +17 +18.9 1 +0 +0.0
15Tk SERR 1 -2 -66.7
hElE 2,182 -64 -2.8 45 -21 -31.8
& 8, 339 =771 -8.5 171 -67 -28.2
<LERLEHBOBRELE (REH) >
B e e ---
_ _7
+40 - F----- e I -~ R R 7—
%
+20 + - e B e T B~ B e B e -
7 |_%
0 ’_% - [ b= -
. (SBEEE ; ; = b . . R .
BAZE ﬁi;%]\ BEEE BT = BEEE | HfiSol | Erhsy [EZ (LR fE37 53 EIES
OFm3 05 53 38 11 5 52 19 25 1 3 66
BEK3 15 32 11 7 2 58 12 13 1 1 45

2 XBEH (AFEH) OREKR ()

TRS1E1~4A8 | BIFERBAL | #HE(%)
% T 1 -1 -50.0
E & 10 +6 +150.0
2 5 221 30| -12.0
8 B 232 250 9.7




I HETROWFERERRE (FH31FE1~4A)

SETEALE
A | BRI gt (@R eeps |mmmiobos| e e sreso| B3| B DR wann
ET o 3 7| 2 [ 2 1 1
ET 2| =0 i
T i| =0l o
R 1 N
smzEEm| 2|+l 0
ST Y i
AT 22| 6| 15 1 1| 1 4 9
S48 | 2
23t of 3 1 i
praa 210 6| 10| 5 1| 1 i 3
R -1 10| 2 i 2 4 1
ST 2| g 1|
o AT of +0] 3| 1 1 1 1
X i| 1] o
5 T 11 4 5 2 1 i 1l
3T i| -3 o
ST 3«3 i
BT of - o
AT of -1 o
18288 1 i
Ly ) 1
AT of 2| o
PNEL 2| 4| 2| 1
(LT of =of o
AT T 1
T I 2
ST 2| 0| o0
AT i| | o
oA A | -6 1
AT I i
KT 11+ 7 3 4
AT 8| -+ 6| 2 3 i
L 6| -6 6 6
EIEL) 5| 1] 1|
BT 3| =0] 0
SIRAT of =of o
76/ KHT of -1 o
N2 T 0 -1 0
AT 3| x0] 2| 1
BT I i 2
AT of -1 o
SRy4T 4 6| 2 i i 2
LA 1 il 2| 3| 3
BT I
PaAT ]
NI i| -6 o
g5 A
SeHAT ] . i
— AT 3l g 2| 1 i
2 I 3|
faar 6| -2 i
—xagm| 3| o+ 2 2




El
ff

SEEALE
A | BRI gt (@R eeps |mmmiobos| e e sreso| B3| B DR wann
=mzmm| 8 3| 5 z i
= AR AR 5| =0 2 1 1
= AR AT 2 -2 0
= AR 6 -2 4 1 1 2
A AT 5| -8 2 1l
) 4 3] 1
FeHAT 3 1 o
ST of =of 4 2 2
B ST of -3 o
FIRET 6| -8 3| 2 1
CTi I i 1
ST I i
RIAT 6| -+ 2 i 1
7 ABT 6| +2| 2 i 1
SFPET i| -4 o
I &8y of - o
T of =of o0
BT 0] +of 19] 2 2 6| 10
AT 1 1
S8/ BT 1 i
IV 5| 3 4] 2 1 2
5587 of =of o
% 58] of =of o0
AFET ] - 1
FSaT 6| 5 1 1

Xt L BERDBFEFIRADHEELIHYET,

FEIARREER & (X, BEOLA—IL, NAFLBEZAVT, MEAT A ELEHE
BEFTLT, BELEAEARYAFESLELT, BEPFVyyah—

FE5<L&EBILRTT,

CHRAANTHCRENEH

STOP ! 15%:3FR B|HMREE

O00-000

SMS/MMS
4H 0:00

BEEE CkHIRfM =
EEBEZSL) K

HMeErRELTEVE
¥, FAEBITEIRG,
?ﬁ?ﬁ%tﬁﬁb*

REFRERA-NOF

FEIAEEER

R U A B EES

Z LA LEEER

ZRZEEAREEER

AR E SR EEFAR

\_ </

IICANOLELZ 31314

SR MENS4% B
Xy oJ Lk
wiz 2 B
BEHLEDXEH-
HAZB

& Y ADEFRDHEEMN

£ANHI9 9%

\ Z Dtk Y.




-

TR
I HHZREEBLASEIOOREHS (K3 1E1~4A8)

Bra& | #H | mERmt—— gg 55 SN E S 2% o
L) 11 -3 1 10] [BosEr 1 +1 1
rEEE 0 -3 FIAT 2 +1 2
AT 3 +3 3 |z 12 +4 12
FE IR BT 4 -3 4| [#ELET 8 -7 8
AR AT 1 +1 1 ER=L:) 6 +3 1 5
SERHT 2 +2 1 1 a0 5 +1 1 4
BHET 15 +6 15 [Kulsr 2[  =*0 2
4 AHT 5 -2 5 e 11 =0 1
4 sty 5 +1 1 4| |EsRET 5 -4 5
E) 8| =0 8| |=&KET 2 +1 1 1
B EE 10 +7 10| (B 1 -1 1
SALILIET 1 -1 1 1RAT 3 -2 3
st AT 2 -1 2| |=AAHHE 11 =0 1
$ XHT 11 =0 1 = AIRIBET 4 +1 4
#rERET 5 -4 1 4 =R AHRT 0 -1
#EAET 0 -1 = A RREAT 2 +1 2
BHTHT 0 -2 =R 3 +0 3
75 3| A 0 -1 = AT 15 -9 15
5 A FTET of =0 ) 9 -3 9
B 4EBET of =0 FRAAET 4 +1 4
At 1L Y 1 -1 1 AT 4 +2 4
& AHT 1 +1 1 AT 2 +2 2
KRBT 0 -2 SR AT 6 -8 1 5
LLiis T 1 -1 1 AERTET 5 +5 5
+ %H7 3 +1 3 |sumEr 0 -4
EEHT 0 -3 AR IS T 3 -2 3
kg AT 11 =0 1 4 ABT 4 +1 4
S BAAT 2 -1 2| |sEmEr 0 -1
B A AT 3 +1 3| |nseEr 0 -1
RBFNET 1 +1 1 T 0 -1
A RET 1 -4 1 AFHET 12 +7 12
AAT 5 +1 5 |s=ET of =0
GEZ:) 5 +3 5 [sEAvET 1 -1 1
B H T 2 +1 2| [ 1 -4 1
AT 2[  =*0 2| |ErmEr 1 +1 1
FKILHT 2 +2 1 1 % 4EHT of =0
TE/ KET 1 +1 1 e all of =0
INZHT of =0 R SR 2 -2 2
SRAT 1 +1 1

U—FMRILEOFYSILE—FERD
KEEIZTDOWTELES S
&5 g g

(S—RRILE @ORERE REERD |

OFWWEhEE ZREHERFATREZER (B 71-2219 F/4VL1)




